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1 100kN/mM#%#B x5 - -~ - —|3mEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 0.00 ~ 558 69.70 | Zh LISt | 000 ~ 558 | 1.79 9.07 zh s 1.00| 500 ~ 6.20 69.70 | Zh LISt | 5.00 ~ 6.20| 1.79 9.07
9 100kN/mM#%#B x5 - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 000 ~ 535 66.68 | Zn LISt | 000 ~ 0.00| 1.73 8.72 zh s 1.00| 500 ~ 580 66.68 | Zh LISt | 5.00 ~ 580 | 1.73 8.72
3 100kN/mM#%#B x5 - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 000 ~ 525 6547 | LSt | 000 ~ 525| 1.95 9.84 zhs 1.00| 500 ~ 6.20 6547 | LSt | 5.00 ~ 6.20| 1.95 9.84
4 100kN/mM#%#B x5 - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zh s 1.00| 0.00 ~ 4.69 5845 | ZnList | 000 ~ 469 | 1.83 9.25 zhs 1.00| 500 ~ 5.00 5845 | ZnList | 5.00 ~ 500 | 1.83 9.25
5 100kN/mM#%#B x5 - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zh s 1.00| 0.00 ~ 4.69 5846 | Tn LISt | 000 ~ 469 | 1.83 9.25 zhs 1.00| 500 ~ 5.00 5846 | Zn LSt | 5.00 ~ 500| 1.83 9.25
6 100kN/mM%#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 0.00 ~ 3.82 48.07 | =nLh4t | 000 ~ 3.82| 2.33 11.79 zhs 1.00| 500 ~ 6.60 48.07 | =4t | 500 ~ 6.60| 2.33 11.79
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImZHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImzHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/mM%#B 2% ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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